MAT1505-05 04S Quiz 7 Not!  Print Name (Last, First) |

Show all work, including mental steps, in a clearly organized way that speaks for itself. Use proper
mathematical notation, identifying expressions by their proper symbols (introducing them if necessary), and
use arrows and equal signs when appropriate. Always simplify expressions. BOX final short answers.
LABEL parts of problem. Keep answers EXACT (not decimal approximations, if possible).

0o -1 .
@9"2 ("\)n :7\7-2-.‘" 2) Why does this Coverge by the q\‘\t‘ma’nng senes test?
n=t b) Apply the ratiotest. Does this waverge absolutely ?

0 Using the atremating senes remander estimate | whatis the minimum number N
o} Yerms needed so that the PGFHG\ sum Sy is accurate Yo 4 decimal P[qt@j
(e the remander s less thon Y5 x 107% 15 absolute Value>?

[Hint: look ot the sequence of numerical Yems with Ma‘ale.]
®) If you roundoff Sy Yo 4 decimal places dees this agree with the
4 decimdl place round off of Maplers |0 Ngit result for the Infinrte sum S ¢

) s Sy or mu“dchb:) coserto S 7 (calculare the too d(ﬂénnces)

Tf Sisused v a step in a larger calculation, which number makes sense to
Useas an appwximahon for St Sy or is 4 decmd place cound of€ 7



